ZFF.%%%fﬁﬁ‘%ll%!FE@ﬁﬁﬁﬁﬁﬁﬂ'ﬂ, Point to Group
SF3EH. 118, BAXATELFHRA. THFEAXT@mER RG. information

HARSAE N D RERY ST F 30 B[] /)

XT34-303-

o XAEAESLEH, ERTELTAAENREETHLES
HERBRAH | BEH SIS, B —SHRELGHRSRONG) . £2352Mis

® & i B T4 FF S #5 Y B [e) ) ) FF (T (o
o FEMY RmHM

FRR~F . 55f
EENO2R . M5, G1/8. G1/4. G3/8. G1/2

Po=sc |
M5 x 0.8 (FrH R~ 1% )

I

Rz B (2] E& 7R 151

MURITFHAREREZIE

IN[>

SEMERFLE

A :I.:e: AT REMEARR, EEAZR. BSWNERE. BMRALT (Best Pneumatics) (4RE#EAK)H
LR (R&EEER AR,

O

SMC(“':I )ﬁl‘E’Aﬁl il . dEREFERAFRX XEEHR2S http://www.smc.com.cn SP173X-020C
© SMC (China) Co., Ltd. All Rights Reserved P: WW




TREE N M TSR E R

Point to Group

weraraet PQinformation

XT34-303-]
Sh1EEIE
BT R S W
F R &5 207 20 (#AF)
=2t _ 2o
1 FEE
i — =
— =
& | /
FRIES OFF OFF ON
KEES ON OFF OFF
2 r e TRl Bivlad e LU TR
ISl =l |\7T'.| EIEE;F\ E’D'EZ: B Do Tt — SR j R
&0 WERE | oogaoue PO | g rrmnEn. | ERXRBREN xeE
2 Ik BEEXAZN, FEEF | A WMRSEHBFXE
*ES.) =B
g
ERAE =5 L
EREAEE 0.1~0.7MPa S BIHES] £ S B FR
1% A E F1H950% 1 E 1 15+ 2%t
XT34-303-M5 .
mﬁﬁimnﬂ ({B7£0.25MPall k) DC(+)
HEE o I 3%t 4%t
FEHEIH60%U
XT34-303-F01~F04 ({87£0.35MPalyl ) 3 DC(—) ouT
NERERERRMEEE —5~607C (FKAELE)
mErE
gL_JEI
wEF -~ XT34-303-M5 XT34-303-F01 XT34-303-F02 XT34-303-F03 XT34-303-F04
AL g
FE 1-2 30 160 390 600 1300
L/min(ANR) 21 65 270 430 960 1100
EERE 1-2 0.1 0.4 1.1 1.7 3.6
Cldm3/(s-bar)] 21 0.2 0.8 1.2 2.7 3.1
IR ERE 1-2 0.2 0.2 0.2 0.3 0.3
b 2—1 0.1 0.3 0.1 0.3 0.3

) E0.5MPa. JRE20CH A,

O
2




TREE N M TSR E R

werxeaEe PG

Point to Group

. information

XT34-303-]
SRS E
l?%% a&
LS| EEOR 5SEO
M5 M5
FO1 G1/8
F02 G1/4 M5 x 0.8
F03 G3/8
F04 G1/2
9";':2}%# (mm)
"\i?e N L6 ~
Ms N M5x0.8
ﬁ;—;&i}ﬂ
~ /
&
o
<
| -
- \
~_H
a
Q
N
- ™
-
T2 T o
S T1 T2 H D1 D2 L1 L2 L3 L4 L5 L6
XT34-303-M57+2) M5 x 0.8 M5 x 0.8 9 — 24 10 7 — 51 55.2 —
XT34-303-F0173) G1/8 G1/8 19 14.3 30 18 — 17.5 55.4 60.6 335
XT34-303-F0274) G1/4 G1/4 24 18 35 275 — 20.2 57.6 63.9 45
XT34-303-F0375) G3/8 G3/8 27 226 40 30.5 — 23.6 65.6 715 50.8
XT34-303-F04%6) G1/2 G1/2 36 275 44 39 — 30.4 82.1 89.6 61

paal
E2
3
x4
5
7£6

TR R BT < A3% . PNPEL
BFTEE, HHRIAETA1/6~1/48, RENENARENS1~1.5N,
BAFrERE. BBEAIRGITN10~20F., BENEMNKBUEAN3~4N,
BFTEE, HHRAIAEITA15~35E, EENEMABIEHN4~5N,
BAFirEE, AERIAREITA15~-36F, EENEMABIEHNB~OIN,
AFITERE. BEAIREITN15~35F. ZENBENAREHN14~15N,

S4KE500mm. wHM8HEk,

O
2



